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Three months in the first year - IWRY2 2OWTR WhY

OVERVIEW

The 7awn states that a 5v27 n°2 77w, which does not produce crops continuously,
does not require a full three year 7p11. Rather it may be accomplished (according to
") by two, three month, cycles (one month cycles ¥"17%) and one twelve month
cycle in between; for a total of eighteen (fourteen) months. It is not clear what the
P17 1s required to do in the field during these three months to accomplish a valid
npm. It is also not clear how it is possible to have three harvests in a H¥2n n°3, in
less than three years, since a ¥27 n°2 produces one only crop a year. maoin will
address these issues.

— INYNYY 529 P27 YNRYUN DIVIPN YWITO TN
From s'>''w1 explanation it seems that YXy»w» ' requires —
— DINNA 19 DINWYNRI DIYWTN NYHY JMNA 191859 ¥91» NINY
That the ?°1m72 should sow and harvest the field in these first three months (of
the first year) and similarly in the last three months (of the third year).

mMooIN anticipates a question:
— NN YO 1Y NINT PR DIYIN /)2 NDYT) 102 9NN NPITIN NNIAN XNNY NN PN)

And it is not surprising that grain which was sown after the month of 70°1
would ripen in three months, even though its usual time for ripening is not until
the following 32°3. Mmoo is assuming (and it seems also that >"w1 agrees®) that when the 73w
states 'VXnX2 wIN WY 071w, we are referring to a regular year from 7w wX1 to 7"7. Therefore
the first three months (the first year) are 28, 1mn and 298. The last three months (the third year)
are 1202, YW, MWwn. A H¥an na a7w generally yields one crop a year.3 Grain (in those areas
around 221 *"X) ripens around 10°1 time.* It would seem unusual that grain can be planted and
harvested (so quickly) during 272% — 1mn, then planted and harvested again in 701 (and planted

"In our (77w 71"7) *"wn it states that he planted during the three months; it does not specifically state that he also
harvested during these three months. w7972 .

* See 7w 1"7 "W where he writes, (seemingly) concerning the first three months, that 7"1 *39% 1755 Pman v,

3 See 77w 7"'7 *"w" where he states: 712 DX QYD X9R MO W 7R, and at the end of the same °"w", he states: yw
AIW? WY M9 210K 1TW DX,

* The 1mw of barley was harvested on the second day of mos. The 7wTn finan of wheat was brought on Maw, etc. See
291 X7 ,u X2 '0 where the 770 relates the effect that 712 non [which (seemingly) took place a short while before nx>x»
0»x7], had on the wheat and barley.

> mooin does not ask how is it possible to plant a (second) crop in 298-1an, if a crop was already harvested in the
previous 10°1. The reason may be that (according to >"¥7) in our case no one planted the field previously during this
year. The Pt entered a barren field in 120 and planted it then. See however later in this 901N (footnote # 9),
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and harvested again during ®703 — »wn).

MooIN maintains that this is not such a difficulty —
—2NA NIYPIN NNIAN D (3,1 NIYN YNRID 1399DNRT N1 )Y 1398107

For we find something similar to this, for the X713 states in 73''S ndo» any grain

which is harvested on the holiday of n>1w -
— NIYN YN 99Y ¥IHY NNMANY WA

It is known that it grew a third of its entire growth before 7"9.
— P37 ININD DY NITH NN

It is evident that sometimes it does grow in that season; around 7" time. Therefore
it is possible that grain can be planted and harvested immediately before (or after) 7"2.%

mooin asks another question:
— 0 DYYIN 1703 DIVTN N7/ P98 INNIN 19 ONT PNYY 139299 NIYP YaN

however the *"1 has a different difficulty with s“"w" interpretation for if this is
so; that it is possible to plant and harvest grain before 7"9, without negatively
affecting the upcoming 1071 crop, then why are eighteen months needed in order to
effect a three season 111, it should be sufficient to accomplish the 7117 in fifteen months. N1voIN
goes on to explain:

— N2M 19233 WYY TN 9103 92W) )02 NEDN 1) 2395 DIWTN /) YADY
He should plant the grain three months before 38%1 and harvest the first crop in
11, as is usual and the second crop will be planted and harvested at the end of
the summer; in 2>X-1nn as stated previously according to '®"w1 and the third

crop will be harvested in the following 39%1. There will be three crops harvested within
fifteen months; beginning with vaw and ending the following j0°1 a year and three months later."’

Mmoo offers an answer:

where it is apparent that (according to N1901n) two crops can be harvested within a year.

% It may be that m20n is not (that) concerned about harvesting and planting during 1203-wn for then it is the rainy
season, however 2198-111n is the driest season, how can grain be planted and harvested then? See however footnote #
5; If it is planted and harvested during 1703-"wn, it will not be planted again for j0°1.

7 That grain would be therefore considered to ‘belong’ to the year, previous to the n21 in which it was harvested.
This is relevant to the laws of Tw¥n and n°y°aw. It is also relevant to us; since it grew a third before 7", it will be
considered a proper harvest (even) before 7" in regard to the 7pm.

¥ See “Thinking it over’ # 2.

? It seems, that Moo maintains that a field can yield two crops in the same year. See footnote # 5.

"% According to *"w a span of six months from harvest to harvest is sufficient. The first harvest occurs before 7"
and the second before ros. NMvBOIN question is that this (first) cycle can start with a j0°1 harvest, instead of a 7"
harvest.

" This difficulty is (only) according to s""w2 opinion that it is possible to plant and harvest within a three month
cycle. See later in ndoN for a differing opinion.

yn
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— YNNIND 2779 HY NAIVN NYIAN 7989 91395 v
And one can say that fifteen months is not sufficient, because we require a

substantive consumption of twelve months in between the two minor usages of three
months apiece. A 9v27 n°2 17w generally yields one crop a year. A 1P requires (planting and)
harvesting three crops. Therefore we require that at least one of the 7P crops, namely the
middle one, be a substantive normative 711 of one full year. For the other two mpmm we are
lenient, allowing two, three month 7P cycles, for a total of eighteen months.

mooIn anticipates the following question:
— 5199 RNYNY 9929 NYN Sax NINIA 1999987 23 Yy 9N

Even though the X713 states, that if one consumes three produce harvests in
three months —

— APIN XM INYAY? Y299 NNDIDN 1)
For instance in the case of NnopdX which can be harvested once a month, that
according to YxXy»w> ' it will be a valid 7. We can derive from that X »3 that
according to *"M a fpin can be accomplished in three months and there is no requirement of an

mawn a9°0K of twelve months (besides the other two P11 periods). Why therefore here in the
case of a P¥an 77w is there a requirement of an 72Wwn 72°2X of one year.

mooIn responds:

— NYY BT NINY 29D DNN 1INY
For it is different there in the case of XnoooX for that is its time. xnooox can grow
in a month, be harvested then grow again in another month, be harvested etc. Therefore it is
logical that no twelve month 72wn 72°OX period is required, since a month is its proper time to
grow and be harvested. However by a y277 n°a 77w, its growing season is one year from harvest
to harvest. Therefore even though it is technically possible to induce it to produce three harvests
in a shorter period than the normal three years, nevertheless one of these consumption periods
must be the normal full year cycle.

mooIN questions s™"WA interpretation:
— (399 97 10pY) NI 139INRT PNY 139349 NVWP YaN

However the >'' has a difficulty; for the X973 states —
— N2PY 229 HNYHY? 5397 91799392 NIIN NVIT Xr9) Na9 YD

That the difference of opinion between 3'"9 (who requires eighteen months) and
v¥'"9 (who requires fourteen months) is based on whether ‘large produce’ or

‘small produce’ are required for a 7pm.
— 1129 N9%9 920 HNYNIY? 9297 DIVIPN YD)

291097,
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And °"v" explains that X723 to mean that "7 maintains that consuming a X7°®
7127 is required in order to effect a AP -
- DOVWTN /)a DYDY DIV NDIAYY DINYY D

For instance barley and oats that grows in three months. Therefore, eighteen

months are required; twelve months in the middle; and the two cycles of three months, to plant

and harvest the 7127 X7°5. Harvesting X017 X7 is not sufficient to establish a 7pmm. However -
—1HR YN DN P92 10 ROIT XD 920 NIPY )

v''" maintains that even Xt X9°5 such as vegetables that grow in one month
are also sufficient to constitute a 1iP11. Therefore fourteen months are sufficient. This concludes
the citing of the X 3 and *"w7"5. M0 now concludes his question. How can *"wA state that >
requires 7727 7’0 of three months for a 7P —

— INYNY? 529D APIN NN TAN YINI NNDODNYT (3 1y nps) NI 13999N NN

For the N=n3 states that harvesting XnosoR once a month three times is

considered a 1P according to °''9! The xnooox would be considered a X017 ™5 according
to *"w7. How can we reconcile these two issues; that °"1 requires 727 >7°9 and nevertheless by
RNOOOR there is a 117 in (three) one month cycles‘?!13

On account of this last question (and the previous difficulties) nMooI1n disagrees with *"w= who
says that for each of the two minor 7111 cycles both 7377 and 77°%p are required.
— IKPN NANIANND YIVY INPNY? 939 533 NIT PNYY 139290 NI

And the ''7 maintains that Yxp»w> '3 does not require that the grain be both

planted and harvested -
— N8P NIV 29 Yy AN DININN DIVTN DUV NPT NI IN PYUNIN NPT IDION NN

But rather even if the first (previous) owner planted the field and the present
P harvested it during the (last) three months of the first year, it would be
considered a proper 192X for the first year cycle of the 1P, similarly if the p>in
only plants this field in the last three months of the npmm (i.e. the first three

months of the third year) even though the »11n did not harvest the grain that he
planted, nevertheless the planting of the last three months is also considered a valid 77°5x for the
third year of the mprn."*

" See “Thinking it over’ # 3.

' The advantage of this interpretation is that we may now maintain that only one crop a year can be harvested from
a 9¥a 77w, and nevertheless three m?°5% can be accomplished in eighteen months. The original owner planted his
field in the first year and the P>1n harvested it in the last three months of the first year. The next year was a regular
year of planting and harvesting by the 1. In the first three months of the third year the 11 planted the field, and
he now has a 7p1m1 even before the harvest of the third crop, which will take place later in the year. It also explains
why the 1Pt cannot be accomplished in fifteen months (N1901n second question) for that would require more than
one crop a year. There will also be no question from XnodoX (see X"w7rn) [where no twelve month middle cycle is
required, and a one month cycle is sufficient], for there he is both planting and harvesting; however here he is either
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moon will now explain the nPpYPnn between >"1 ¥ concerning RV °7°91 1727 1’0 and it will not

conflict with the case of XnoooX, according to this interpretation.
— DOYTN /) 1N NAIN INYAHA 2991 J7) NN 12993 920 INYNIY? 2297 919D NNI)

And this is what ¥"71 "7 are arguing about: for >''" maintains that it is
necessary that the produce should grow in his possession an extended amount

of time for instance three months -
— 129 N929 9

And this is what ;7129 X902 means; that it is growing for an extended time of three months.

Otherwise it cannot be counted for a yearly npin cycle.
— NV X929 139901 TN WIN NIN MY JTHY 7998 PNRT 920 NDPY 22N

However »''% maintains that it is not necessary that it grow in his possession
three months but rather only one month is sufficient and that is the meaning of

NUIT X932, However neither >"1 nor ¥"1 require that it must be planted and harvested in that time
(i.e. one or three months); either 7v™ 1 or 7°¥p is sufficient.'

According to npown the 7P in each three month cycles (one month for ¥") is
accomplished either by 7¥°77 or 77°Xp but not (necessarily) both. md01n questions this.
— DININN IN DIIYNI DIYTIN ) DD NA PIINIY 999 RN TNIN 9NN ON)

And if you will say; How will it be apparent that he was in possession of the

field all of the first three months or of the last three months -
— VI9TH IN NEPY Y9’ 723 IN NN DY %D

Since, in one or two days he is able to harvest (concerning the first three months)

or to plant (concerning the last three months).16 What does it mean that he made a 7pmn for
three months? What did he actually do during the entire three month period?"’

mMooIN anticipates a possible answer:
—NPHN NTVYN HN YIIY NI *I)

And if you will say that he will weed the field and improve it by removing any

planting or harvesting, therefore we require a three month cycle and a twelve month 721w 79°9 in between.

'3 sy who maintains that each yearly 7P cycle must consist of both 7% 779°71, cannot interpret X791 727 X0
Xuw, the way mpoin explains it. There can be no 7P by produce that requires more than a month from the 7y>71
until 77°%p, even according to ¥"1 since there was no 7% 7y 1. Therefore "w" must interpret that >"7 and ¥" are
arguing whether a Xu1r "5, a produce that requires no more than a month from 7¥°771 to 77¥p, is eligible to be
considered a 711, or that only a 7127 87°5 which requires three months is eligible for a 7pii. Therefore N19oIN has the
77°no (according to *"w1) between " of the miwn, where three months are required and " of XnodoX where one
month is sufficient for a npimn.

' See “Thinking it over’ # 4.

17 According to >"wA it is understood. He planted in the beginning of the three months and harvested at the end of the
three months, therefore it is considered as if he was °1» all three months, for this is the normal manner in which a
person tends to his field.
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defects; that is the way he will be 11 for the three month cycles. N1901n rejects this answer -

— PN NN RDT (39 97 JIPY 9INT 90IN MNT 2790 NAPIN NMNN XY XN
For w1 or j7nn is not a i for it is similar to plowing, concerning which the
X3 later says that plowing is not a P —

— A 5993 X297 XYW 59 90N IMMNT DIUN

Because the original owner certainly says, ‘let every chip of the plow go into the
soil’. The original owner is saying let the P> plow so much until his whole plow will be
consumed chip by chip from the wear and tear of plowing.'® The owner is happy that a stranger
is plowing his field. After the P17 is finished plowing the owner will be able to plant the field
and avoid all the difficult work of plowing. Therefore just as plowing is no 7pi similarly
weeding and repairing is no 7P for the same reason. The owner is happy that someone else is
doing his work.?® A mipm is only when the 117 is infringing on the rights of the owner in some
way; when he harvests the crops, etc. The question remains; how does he perform a 7pm for
three months.

MDOIN answers:
— DAY NIINY 1 9115 v

And one can say; that he consumes it for fodder, for instance. He harvests the
growing stalks [of grain] before they mature and uses them as animal fodder. That will be
considered as a P11 for the three months (in addition to the planting [or regular harvesting] of
grain).

Mmoo anticipates a difficulty:
— NPIN RN XY NNY NYIN (v [1%] ow) 129INT N

And concerning that which the X773 states: If he consumed nmw it is not a P37,
This seemingly contradicts what Mmoo just said that his 7pm is accomplished by nrw 723,

mooIn responds:
— NAY HINN ANIANN PRY NT 1y DIINYI 991 9N

These words (that 7P X177 XY nnw 770X) were said when he consumed it in such

a manner that the grain will not come back; he cut the stalks in such a manner that

they will never recover and grow back to produce grain. In that case 7P 827 XD nAw 729K —
— PINNY YN KXY 79597 YWIN SPINNTI NPINN IND M) 7ue

For then it is applicable that the original owner says, ‘you did not take
possession of this field in the manner which people usually take possession.” A

'8 The 0"wi non amends this to read 772 »»y5.
% See 0"awA there 3 71"7.

0 See ‘Thinking it over’ # 5.

*! See ‘Thinking it over’ # 6.
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person who is in possession of a field does not willfully destroy his crops of grain
and instead feed the stalks to animals. Therefore since the 117 did not make a

regular 7p117 therefore the original owner was not concerned to protest this unusual
occupation of his field. This explains the X3 of 7pI X7 K? N 79K.
— NYPYPHN ANAND PRY I3 NNY NYIN ON YaN

However if he was nmw 77928 in a manner that the grain does not spoil; there will

be a crop of grain even after nnw 729K —
— DPIN RNN NHY DIY) P27y XA XY 792 XINY TIYa DIVIY DTN 2V 7915

As is the custom of some people, who perform the niw n%°ox while the plant is
still green and it did not reach the stalk stage; then even if you cut it, it will

regenerate and produce grain, in that case it will be a 5211, This is the type of nnw 793x
that N1901n mentioned which is eligible for the three month AP

mooIn concluded that there can be a continuous P11 in a 77w through nnw 7958, However, mooin

anticipates a difficulty:
— D%V /) OPY D1 PNIMIT INYHYS S3N 919997 1329 AT 19IN DY)

And concerning an orchard, in which the 32129, who argue with °''9 as mentioned

in the X9n3, require that the 77177 be three full years ‘from day to day’ —
— PNY NYIN 0NN TV RIT 2 YY 9N

Even though that nm 7792X is not possible there, by an orchard; there are no stalks to
be harvested. How can there be a np11 for three full years? What is he doing during all this time

to show that he is p1in? Seemingly he only harvests the fruit, which requires a relatively short
.24
time.

Mo0IN answers:
— 1I8YY DINYN 20V MY 1D 91991 XIN OIPNI JoNn

Nevertheless even though there is no nw 7708, we can say that he makes a mpIm
continually that he prunes the trees for instance and he retains the pruned wood
for his usage; for firewood, building, etc.

mDdoIN anticipates a question:
— 9539195 %NY 792 YPHNT 2) HY 9N

And even though that by pruning, he is merely improving the orchard for the

owner and it is similar to plowing; which the X 3 says is not a 7pm, as mentioned
previously. How can pruning be a rpm?

2 See “Thinking it over’ # 7.
22,1 b,
* See ‘Thinking it over # 8.
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mooin replies:
— 1A 9P N2IIDT XY 95 1909 7Y Y msyy 0r8yn (C1pnnv) 1o

Since, however, he is retaining the wood for himself, it is not appropriate for

the original owner to say let every chip of the plow go into the soil. The owner is not
happy that he is taking the wood for himself and away from the owner. We cannot compare
plowing to pruning. By plowing the owner is only gaining, however by pruning even if the
owner is gaining somewhat, but he is losing his wood. Therefore x¥% 2391 11 is considered a
apTn.

moon will offer another way how the 772117 is accomplished in the three month cycle.
— R ONND2 N PIINNRT PNYY 13929 99N NV

And furthermore, says the 3'' that he made a 732177 in the field in this manner -
— ©39%5 DN NN PNY NNONA Y NTYN AN 110 Sy

That he made a lock and fenced in the field and he continually locks it with a

key, when he leaves the field and he permits no person to enter. This is considered
a 1p1n for it shows (exclusive) ownership.

mMooIN anticipates a question on this explanation:
— DN NHYIVY 1D 9INRP NIY DD 93P INHDI RNDNY (3,05 97) NI 9INT NN

And concerning that which the X713 says how can one acquire possession of a
rocky area (with "3 npim); since there can be no planting there? This concludes
the quote from the X723. The X712 does not say that a X111¥ may be acquired, if for

instance he locked it and fenced it. The fact that the X3 did not give this answer would
seemingly indicate that 9731 91 is not a valid 71, contrary to what nMooin said.

mooin replies:
— NPT IN DTN NDION NIN 12 ON NIN DO NDIYI PRT 9199190 NIIN

It is possible to answer that locking alone is insufficient to be a 7P unless
there is a harvest together with the locking, or planting together with the locking —

— yq310 93153 NY X199 199y AN
However, locking alone without 77¥°77 or 77°%p is not sufficient at all, there is no
7p10. Therefore by &n11¥ where there can be no 77°%p1 7y, the X723 could not have said that the

7P was made by 773 9v1. However by a 9v277 77w where there is 7v°77 or 77°%p, then 773 %91 can
complete the three month P11 cycle.

5 See 0"wn non that others substitute 25vw for JpPANY.

2 See p"¥71 5v1 1"7 2,21 1ApY 'oIN.

" Tt could be he is merely a watchman, or he wants to protect his neighbor’s property. However when he harvests
[or plants], the locking indicates that he is protecting his produce.
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Moo concludes:
$INVNIYY 2297 19299 9133 P9V NN RNV

And now that we are stating that 772 ?¥1 can accompany %P1 7¥°7 to complete a

7211, then it will also be understood according to the 7127 who argue with %'
concerning a 1?°X71 77w. They maintain that a full three year 7pin is necessary. That 7311 can be
accomplished if in addition to harvesting the fruit he will fence and lock the orchard.

SUMMARY

There i1s a dispute between >"¥7 and Mmoo whether during the two, three (one)
month, cycles the 111 is required to both plant and harvest the crops (*"w9); or
whether it is sufficient that he either harvest or plant the crops (1501n).

A similar dispute is whether Xv11 »7°91 727 >0 is referring to the growing cycle of
the crop (*"w1); or whether it merely refers to the time the p°1mn is working with it.
According to *"w1 planting and harvesting (is all that) is required for the 7apm.
According to md0n, in addition to the harvesting or planting, he is also required to
be nnw 795X in a manner that the crop is not destroyed. Alternatively he may fence
and lock up the field that he is harvesting or planting for a valid 7p177.

Plowing, weeding, pruning (unless he retains the wood), repairing, locking etc. are
not acts of 7P (for 2°1w '3 NPT as opposed to PIp NPTN).

THINKING IT OVER

1. Does the P11 of eighteen (fourteen) months need to begin only at a specific date
(10, for instance), or from any time that the p°117 begins the 711, it will conclude
eighteen months later (m»do1n ,>"w")?

2. What proof does no0n bring from the X713 in 71" that °19% 121 nprna 151 AX1aN 9
7"; perhaps that is concerning a Pr>wi n222%®

3. Can we answer Mdon final question on *"w1 in the following manner; > similar
to NMooIN answer on the previous question of XNOHOX. In the case of XNDHOX since its
cycle is one month, therefore three one month cycles are sufficient. However
concerning a ?¥27 n°2 where its intrinsic cycle is one year, the o'non were willing
to lessen the two minor cycles but only if there would be an 721wn 79°5% of 727>
— three months.

2 See footnote # 8.
¥ See footnote # 13. See R"awn.
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4. According to n901N, when is he required to plant/harvest in the three month
cycle; in the beginning, at the end, or there is no difference?”

5. mooin cites that plowing is not a pin.”! Why is 7y*r a 2>

6. oo asks, that the XIn3 states P *17 R AW 799X; this conflicts with N19oIN
suggestion that he be niw 729%.> Why does not moon answer that the X7»3 is
discussing a case where it is only nnw 190X; he never harvests the crop; here,
however, he 1s harvesting the crop?

7. If it was nw 799K in the manner 2w X"12w 7770 is that a 7pm?** Why?

8. moon asks how one makes a 7pm in a 1k 77w.> Is this question applicable
according to >"w0?

30 See footnote # 16.

31 See footnote # 20
32 See ®* MR >0

33 See footnote # 21.
3 See footnote # 22.
3 See footnote # 24.
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